Sccondary Math 2 Name Kﬂ/y

Unit 6 Review Date Period
Write each quadratic in intercept form and list the x intercepts.

1) yv= —x? ol =3 2) y= “3x? + 6x + 1

ERICTHICER) N/A
x-int s (-3.0), (-1,0)

3) y=x2+8,\-+15 4) y=2x2+12x+16
Y = (x+(x ¥5)Y Y:?,(uu\(x )
-iars (-3,0), (-5,0) Aty (4,09, (-2,0)
5y y=2lrs 1 =2 6) y=-3x-1)"+2

y = 2x(xr2)
‘L-(!\‘\". (Ofm: ('7'10)

N/A

7 y=—x-27+1 8) y=(x+4)°-2

ERCEO R N/A

-intt (3,9),(1,0)

Write each quadratic in vertex form and identify the vertex.

9) y=x*-6x+8 10) y=x2+2x+2

\{: (%‘5)1- | Y: (xH)z' 1\
Ve (%(-D \J“(-\'IB



1) y=x?-4x+8

Y= (x-20 + 4
N4 (2 4)

13) y=3x"+12x + 14

N/A

Write the quadratic equation for the following.

15) x - intercepts of(O, 0) and (2, ) and
passes through the point (—2, 6).

\= % *(.X'LB

17) x - intercepts of(7, 0) and (3, 0) and
passes through the point (—2, 4)

\{-.:. “33 (%-73(3‘-'%5

12) y==2x+8x-06

N/A Q

14) y=-2x* + 16x - 33

N/A

16) x - intercepts of (7, 0) and (—3, 0) and
passes through the point (0, 1).

= “,'L'\'i G-"-,)(K"BB f\

18) x - intercepts of (-4, O) and (6, 0) and
passes through the point (—3, 2).

y= T (-0

K'\ A



19) X)Cfl‘g;( (1,-2) and passes through the point 20) Vertex: (2,10) and passes through the
’ point (-1,0)

Jd

\= S y= T (DY +10

21) Vertex: (2,-5) and passes through the 22) Vertex is at the origin and passes through
origin. the point (4,16)
5 (X
- (k-2 -5 =
1 H ( ) Y =%

Sketch each scenario, determine what part of the quadratic graph is each question asking for,
,( then answer each question.

23) The scariest swing sits 1300 feet above the Colorado River. It takes 30 seconds to swing from
one side to the other. The swing is about 100 feet in length.

a. What is the y-intercept in this situation?
(0,\3e0)

b. What is the vertex in this situation?
(15, 1700)

¢. Write an equation that could model this function.

Y g %—(x—\s)b-\- |20

i3



la. The towers are 500 fect apart and 90 feet

24) The cables of a suspension bridge create a parabo < the cquation of the line that

tall. The cable touches the road halfway between the towers. What 1
would model this curve?

(A
\f - Z,{-\S—O (1\”150>

25) A diver is standing on a platform 28 feet above the pool. Their jump from the pool can be

represented by the equation: f = -16¢* + 6t + 28, where A is their height above the water, and ¢ is
the time. (Decimals are okay!)

a) When will the diver reach their maximum height?

14 seconds

b) What is their maximum height?

28.56 ket

¢) How high will they be at 0.5 seconds? At 1 seconds?
77 feat % 18 Leot

d) How long will it take them to splash into the water?

\o B2 se. condls

&

O)



26) Paulis kicking a field goal. The b

all lands 36 yards away, T i
s ards away, The maxium height alli
yards. Goal posts are typically & y e

ards tall,
" O g

4 ; ; . ;
) How far away from Paul is the ball when it reaches its maximum height?
\9 Yo_rtl$
b) How high is the ball when it is 23 yards away from Paul?

Z‘[o L3 yojﬁb
c) If the goal post is located at the position above, will Paul make a ficld goal? Why

or why not?
Nes, Zle23 yo.ro\s is his\w“\"\an ‘1% Yo.ro\s

27) A baseball is being thrown from the top of a hill to a friend at the bottom of the hill. The

equation that models the curve the ball takes can be expressed by: s = —6.6¢° +21.4t + 63.4. Use
P this information to answer the following questions.

a)  What is the starting height of the bascball?

b2 feot

b)  When will the ball reach its maximum height?
lo b2 seandks

¢)  What is the maximum height the ball will reach?

¢0.79 fuk

d)  When will the ball hit the ground?
5,12 seends



; 2 :
28) The path of an arrow shot in the air can be modeled by the function: A = =22t~ + 135¢, where A is
the height, in fect, of the arrow above the ground / scconds after it 1s released.

a) What is a reasonable window for this graph?
D: [0, %]
o [o,25¢]

b)  What is the maximum height the arrow rcaches?

207.1 feot

c) After how many seconds dose it reach that height?
2,07 sttonds g

d)  How high will the arrow be at 3 seconds? At 6 seconds?

261 et % 16 feot

e)  About what time will the arrow land on the ground?

be V2. Secends
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